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B. Sc./B. Ed. Part — I (Integrated) Examination, 2019
PHYSICS -1

(Mechanics of Particles, Rigid bodies & Continuous Media)

Time: Two Hours
Maximum Marks: 40

PART - A (@7s — 3)) [Marks: 8]
Attempt any four question.
The answer to each question should not exceed 50 words.
Each question is of 2 marks.
P FIV o7 PIoTT | GAF J97 BT GV 60 TG & EF T &/
g% 97 2 3 BT &/
PART - B (Gvs — §) [Marks: 12]

Answer any two questions out of three questions.
Answer should not exceed 250 words.

Each question is of 6 marks.

AT 7ot  H BIS 1 gIT Hiforv/
goT T GV 250 k) W 3Rk 7 &/ YD JIT 6 3B HT &/
PART - C (g7s — &) [Marks: 20]

Attempt any two question.

Answer should not exceed 300 words. Each question is of 10 marks.
TS & e PIfoTY | FAF FI7 P FI¥ 300 =] W fEF T &/
&% J97 10 b BT &/
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PART - A / gvs —

Q.1 Attempt any four questions-
BIg IR YT DITSTI—
(i) Define areal velocity.
&g I R DI |
(i1)) What is centre of mass reference frame?
SN drs [aud OF T B 87
(ii1)) Give an example of elastic collision.
TARY TP BT U Sa&TeRl o |
(iv) Show the variation of gravitational field due to a spherical shell with distance

diagrammatically.

o gRT e B & HROT T &3 FT g0 & A1 uRacd Iwigy |
(v) Define precession.

YREROT B AR IR |

(vi) A particle is moving in a plane. Find its degrees of freedom.

T HUT Bl I § T B V8T 8 | 396! Waadl &l dIfedl STd b |

(vil) What is Cantilever?

B ETllaR T gIdT 27
(viii) State Stoke’s law.

eih &1 fm oy |
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PART-B / s — §

Q.2 State and obtain Gauss equation for gravitational field. Explain its significance.
THATRYYT &F & o) TTSH AHIBRUT Bl Ieold d UluTa BT | SHSI A A |

Q.3 State & prove the laws of conservation of linear momentum, angular momentum and

energy.

I AT, DI AT TAT ol ARG &b I BT ool B FIMIT BT |

Q4 (a
(b)
(a)
(b)

Q5 (@
(b)

(a)

(b)

Q.6 (a)
(b)

(a)
(b)
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What are the forces acting on a small metallic ball falling in a liquid column?

What is the effect of temperature and pressure on the viscosity of liquids?
5q WM H AR enfeas BIET T R 9 I 9 1 B o7

4l &1 TIEdT R d19 9 <19 DI o7 G9Td BIaT 87

PART-C / Hvs — 9§

Derive Kepler’s second law of planetary motion.

A stone of 1kg tied at the end of a 2m long string makes 5 revolutions per second.
Calculate the force on the stone as measured in an initial frame and in a frame
which is rotating with the string.

T8l B A & BUeR & gl (199 @1 efid ISR |

2 ey o SN & R WR 1 1 f @ 9er 5 gaaR Ui Adve I e © | URR
TR HRRG 9 B T %A 4 Ud SN & |1 goit mF 7 s1a IR |

Obtain any 2 equations for inter relations between elastic constants.

A steel wire of Imm. radius is bent to form a circle of 10cm radius. Find the
maximum stress if y = 2x10'" N/m?

TIRY ReRip & T Iw: FaeT & ford dls ) &I AHIHRT U B |

1 el o & ©d & IR & Al &) 10cm 3501 &1 99 9911 9 &1 A
y = 2x10"" N/m? &, I 31feread ufcaa sma aifor |
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Q.7 Define the following terms and explain briefly-
(a) Velocity gradient
(b) Reynolds number
(c) Euler’s law for fluidity
frafeiRed ual &1 uRwIT SIS T Herg 3§ wwsmsd—
(a) o ggordr
(b) reea &
(c) wgar & for 3MfTeR FHieRo
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